Efficiency vs dr

0.5

efficiency vs AR
=}
D

111
1| ROOOOOOOOl Global __mkFit10000__RECO
—e— DQM_ VOOOl R000000001__Global__mkFit1000__RECO

—— DQM_V0001_R000000001__ ¢ Global mkFithOOATime_RECO

095 || HEEHH
107° 1072 107!

1
TP min AR

0.5

P, jet
©
>
a1

°
»

0.35 PO IR L

o
w

0.25 PO IR L

efficiency vs AR(T

I
[N

0.15 Pedeb L

0.05 o b

=

1073 10_2 ] 10—1
AR(TP, jet)

Efficiency vs pu
0.5

0.45

0.35

efficiency vs PU
o
D

o
w

0.25
0.2
0.15
0.1
0.05]

L QA

Ratio

IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII!IIIIIIIIIIIIIIIIIIIIIII
: *{
C {' :
+ s
{
&
SR
——

o
w
o
N
o
o
2]
o
~
o

0.95 30

Pileup



	Contents
	Page 1


